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QUESTION 1

Which statement is true regarding deploying NSX over a physical network? 

A. OSPF can be used for Management traffic in a Layer 3 fabric design. 

B. NSX can implement IPv6 on an IPv4 physical network. 

C. Routing is supported on bridged interfaces. 

D. VLANs are not required to separate traffic between virtual machines. 

Correct Answer: B 

 

QUESTION 2

-- Exhibit -

-- Exhibit -An NSX administrator is examining an error in the Event Console as shown in the Exhibit. 

Which condition would result in this error? 

A. The configured MTU size on the physical network is too small. 

B. The VTEP IP pool addresses are on the ESXi management network subnet. 

C. VLANs are configured on the logical network. 

D. A VXLAN segment ID pool is not configured. 
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Correct Answer: B 

 

QUESTION 3

If unicast mode is configured for the overlay transport in an NSX deployment, which two statements correctly define the
network support that is required? (Choose two.) 

A. Configure NSX High Availability. 

B. Layer 2 switching support in the access and distribution layers 

C. Layer 3 switching support in the access and distribution layers 

D. Configure Jumbo Frame support 

Correct Answer: CD 

 

QUESTION 4

In a data center using a leaf and spine architecture, which two statements define the connectivity between the leaf and
spine tiers required to provide optimal network connectivity for NSX? (Choose two.) 

A. Links are required between leaf and spine switches, and from each spine switch to other spine switches in the
architecture. 

B. Links are required between leaf and spine switches in the architecture to form a point-to-point connection between
the two tiers. 

C. High availalability and scalability should be achieved using NSX High Availability. 

D. High availability and scalability should be achieved using Equal Cost Multipathing (ECMP). 

Correct Answer: BD 

 

QUESTION 5

Which two NSX Data Security roles could be assigned to view configured policies and violation reports? (Choose two.) 

A. Security Administrator 

B. NSX Administrator 

C. Auditor 

D. Enterprise Administrator 

Correct Answer: AC 
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